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I ;g 76. HETAEHRAE |77, HEAESEE |78 ERMAEH
| % | IEGL (% B (% G & (QttEli-y)
=N 3 60.4 6 93.1 34 1.3
=Fm 16 449 16 84.9 32 14
= 25 385 22 79.4 11 1.9
mEH 10 498 7 92.3 29 15
TiE™H 28 31.7 8 90.8 13 1.9
JAlG T 20 40.1 23 78.3 23 1.8
BEM 9 52.7 5 93.2 24 18
TiEFKT 5 58.6 1 96.6 33 14
mA+H 7 57.0 10 88.5 14 1.9
Emmh 4 59.4 13 86.0 18 1.9
BEH 27 34.6 20 81.9 26 1.7
BLFHET 6 57.2 14 85.8 30 15
Z= 4 T ET 17 422 3 93.9 31 1.5
H E7HT 11 482 28 72.1 22 1.8
2 AT 22 39.2 4 93.2 25 1.7
de)n 4t 23 38.9 30 70.0 2 24
ERA 8 55.0 33 433 1 2.7
=FF 13 475 18 84.3 17 1.9
A ILIET 26 35.2 15 85.8 8 2.0
KEHT 31 29.8 21 79.6 21 1.8
T {xHT 19 417 24 76.0 7 20
KINFt 29 30.7 34 414 3 24
LNDHET 18 418 11 87.1 15 19
=32 )| BT 30 30.2 31 69.7 16 1.9
o+ {&HT 21 39.9 29 71.6 27 1.6
)1 BT 32 260 25 74.7 12 1.9
5 kN BT 15 45.8 9 90.2 19 19
1R ET 34 34| 32 489 10 2.0
BE# 14 474 17 845 6 2.1
EEPET 2 65.1 12 86.9 5 2.1
475+ H7 24 38.8 27 73.7 9 2.0
X RAH 33 215 19 834] 28 1.6
=ZRA 1 65.2 26 74.2 4 22
oyl 12 4738 2 940 20 1.8
=2 44.9 83.9 1.6
ER TRk28FEAR1HIRE |Fr28F4H1BIRAE  |[FER29%E3H31H
=g SR DERARR SR DERIRR EREROHB . EREALIEAD
HAT BB R BEREE MEEH D, Bi54E
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iz 8|79 STEFMEELH |80, TEFHESEL (81, (HAETH
| & ER [EARTFALEY) [ B AAOFALEY) [ B [ AAOFALZEY)
=N 4 3.86 5 427 3 3.76
EFm 16 1.97 17 2.32 24 0.84
= 7 3.12 7 3.96 4 3.34
mEH 5 3.35 8 3.68 1 9.09
TiE™H 13 2.16 16 241 10 1.98
JAlG T 15 2.06 19 219 11 1.93
BEM 6 3.19 6 404 2 408
TiEFKT 22 1.61 22 1.89 19 1.12
A+ 14 2.16 15 253 12 1.76
Emmh 11 2.34 14 257 22 0.98
BEH 12 2.33 12 2.63 15 1.46
BLFHET 17 1.90 18 2.28 25 0.76
Z= 4 T ET 10 2.68 9 357 18 1.19
H E7HT 9 2.90 3 5.07 6 217
2 AT 3 3.94 2 5.38 21 1.08
de)n 4t
ERA 30 110 30 110 20 1.10
=FF 1 4,92 1 6.47 7 2.07
A LLET 28 113 28 113 9 1.98
KEHT 2 420 4 495 26 0.74
T {xHT 26 1.24 27 1.24 13 1.74
KINFt
LNDHET 18 190 20 215 14 1.56
=% )I | BT 31 0.35 31 0.35 23 0.87
o+ {&HT 23 1.39 24 1.53 27 0.69
)1 BT 27 1.21 26 1.29 8 2.04
5 kN BT 24 1.35 25 1.52 5 2.88
1R ET 29 110 29 1.10 17 1.37
BE# 8 3.09 10 3.28 32 0.19
EETHET 19 1.81 11 2.97 30 0.49
PO 75 +HT 25 1.35 23 1.85 16 1.46
X RAH 20 1.67 21 2.05 29 0.56
=ZRA 28 0.61
= ey 21 1.64 13 2.58 31 0.34
=2 2.99 3.40 3.11
ER TER 285 TR 285 TRk28FE12H31H
=g XEBRE REAE E&T - R EL - ERI R
HAT B ZERER B EZZARER BERERFBERR
=

80. XBEMIEGEH o0

(N (ABFAZHREY) )

40km




